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(1) DL R RL R S, ST P 4540 R 0, WS I, P SCHA 9 FE 3 p, =80 emHg (KB V, =L, S =
155 em, YR T, =300 K (143)
RIS, PSR 3R p, =75 cmHg, (&FRV, =1, =17. 58 cm (143
Vi pV.

e R = (149)
i@ T, =328. 125 K, (143)

(2) P AR A SRR AR AL Tl AT, P U 5 py =75 emHg AKFR V, = L,S = 17. 58 em, #1 U5 , £ A
AR SR py =80 cmHg, MRAR Vs =15 em, Befili Hh B RTE R38N p, IFRIRFR N

SRR BEREEL A, T pa Vo =y (Vs + Vi) 245
U'\Uﬂ?ﬂf%‘ﬁ"]’—jhw}ﬁiﬁﬁiﬂé’—j\ﬁiﬁﬁ%%ﬁﬁttﬂﬂ% x100% = v, 113 v, x100% =91% , (14)
(1) WYL A 8 6 6097 F, = mgsin 37° + umgeos 37° =8 N (14
SR B A BRI E SRR, B ¢ =2 s B

AP RTF LD — Pyt + T % =, (149
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RABUERAS v, =8 W/, (143)
(2)7E0 ~2 s PIIEHe ) _EABohs BE A /N I AZ B, 7E 2 s ~4 s P9, W fi b A4 3 B 720 7 48 K i vt it iz
B, X FRMERT D 8, =4 s B BRI R, IR T ETT B 0 S i B4k E 3h

RIEA IS 28, mgsin 37° — umgcos 37° =ma (143)
8 a=4 o/ (14)
YR SRV AR o = /2L =800 /s (14)
EHMBHEE PR 4 L =)o (143)
i =40 s e
MU YA R EE BRI ¢ =1, +1, =23 ) (14)
(1) BEA B FAMTRREH m, BRI mo, L A 4AALLRO T GBI, KT I T Z A1
%,ﬂ(qzjj‘r'ﬂi)‘b%%‘lﬁaﬁ(m*'mo)”o=mou+m",1 (16})
ﬁﬁ%m=—%u+%'vo (143)
PR 2 TT8 0, = - 5w +4(u>n) (159
mﬂm;mo-v0=4m/s,%=% (143)
RS ffEA vy =3 /s, (141)
(2) ABE b B 401, L B %A ASURBI RGN TN R, RIAT I WA AN 1 0% KT Iy 5
{8, mou —mv, = (m +my)vy (143)
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W ABKE] B2 1 B AT vy B uw K /NERCHIRRAR 0 = w5 (u>00) (1)
4 ABKE] B4 LI B 26 0OH I R, ABkH: A I u, =9 m/s (149
MU ABKE] B % 1, A 0 0y, =4 m/s — o, =1 m/s (149
P R ARG 3 4B DT AL R, AR50 AT moy = mof + (m o+ mq )0} (149)
P4 e TR FLARE R PR Aol = om? 4 -(mt mg )0y (149
PR L IERDR B R o) =—20—y, =S m/s~0.9 m/s, (1)
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X v, =vp I, PIEIR B R BB AAAR B0 BT E A AR RT3 T , A BRI A 223 s B B/ ME v, (1 90)

A 1, =10.71 m/s, (149)

(1) BB TR RN o, RS, gU =2 ms’ (143)

BT SRS T B30, R — SR AT quB,y =m 24

BRIELITXR A sin 0= (1)
. 4BR  qBR’

o= Los T (14)

(2) B TAETAEIL B I0A 9 5 i o BHAE T TR BB B2 3, ¥ = B T s B 2z 30,

Wy BIIEH 14 R =v,t =vicos 6 (143

W 2 BT AT b =g +%m2 (143)

;H\:EF'a=g£,vz=vsin0 (143)
) P mE tan’@

%4%h-Rtan0+72qu o (141)

(3) E ALY K AL , B T = B 7 IS 56 (2) A R A I LR 2 30, H (2) WIS TE

REI K SPTE SR ¢ = 7 -tan e—q%’" (149)

BRI )7 TS ﬂca@ﬁﬁm““’” SRS B, R )7 T — EL0 = B T

FETE TP 377 1 , BV 003 3 7 O T A 438 30 0 3 I A58 3, 240 3 B 3 3 ) 480 8 B K /N

v, =veos 0, ERSTH I RE B EE N o AR T, v, By =m 25, 7= 2T (14%)
s _ R R . 2mm

R = e 2 " B, (153)

VLB TR S S 1 (IR O o, PR, 0 4 = ;iﬁr (14})

1 @ =2 rad (144

BOZES TATAE R R T R LB AR N (%,y,0) , R LATR R AT AL :

x= -1 —r'cos (w—a) = —%(1 -cos2),y=r'sin (m-a) =§sin2 (143)

I stk [ -—(1 —c0s 2), 5" R in2,01, (143)



